Exam Held On : 17-01-2010

REASONING ABILITY

0 Inacﬁtamumicmhwm-

ten as ‘5%3#42° and ARM is writ-
ten as ‘@9, How is TERM writ-
ten in that code 7

(1) 23@9 (2) 240&
(3) 42@9 4 24090
{5} None of these ,

» How many such palrs of letters

are there in the word CHRONI-
CLE each of which has as many
letters between them in the word
as In the English alphabet ?

(1} None (2] One

(3} Two (4) Three

{5) More than three

The positions of hiow many digits
in the number 53269718 will re-
main unchanged if the digits
with-in the number are rear-

ranged in ascending order 7
(1) None (2) One
(3 Twos+ {4) Three

(5] More than three

. In a certain code ARCHIVE is

written ‘as DSBGFW.J. How is
SYSTEMS written in that code ?

(1) TZTSTNF
(2} TZTUTNF
(3 TZTSFNT
(4] RXRSTNF
(5) None of these

« Il'R denotes ‘divided by"; ‘T de-

notes ‘added to’; "'W' denotes ‘sub-
tracted from’ and 'B' denotes ‘mul-
tiplied by', then—
I5WI2TER2B6=7

11 2
3 :2135
(3) 27 43
(5) None of these
What should come next In
following letter series ?

IHGFEDCBAIHGFEDC
IHGFE '

(11 (2)D
(3B (4) A
(5) None of these

the

7. How many meaningful English
words can be made with the let-

ters TSF1 using each letter only
once in each word ?

(1) None (2] One

(3) Two (4] Three

(5) More than three
Pointing to a boy, Sunita said “He
Is the son of my grandfather's only
son”. How is the boy related (o
Sunita ?

(1) Son

(2] Nephew

(3 Uncle

(4) Data inadequate

(5) None of these
8. The positions of the first and the
fifth digits in the number
85123654 are interchanged. Sim-
llarly the positions of the second
and the sixth digits are inter-
changed and 80 on. Which of the
following will be the second digit
from the right end after the rear-
rangement ?
me 28
31 4 2
(5) None of these
‘MP is related to "HK' in the same
way as 'WZ i related to __ 7
(1 g5 (2) RU
{3) PS 4 Qu
{5) None of these
Directions (11-18) : Each of the
questions below conslsts of a question
and two statements numbered | and II
given below It. You have to decide
whether the data provided in the state-
ments are sufficient to answer the ques-
tion. Read both the statements and—

Glve answer (1) If the data In
statement | alone are sufficient to an-
swer the question, while the data in
statement Il alone are not sufMclent io
answer the question.

Give answer (2) If the data in
statement Il alone are suflicient to an-
swer the question, while the data in
statement [ alone are not sufficlent to
answer the question.

10,

Give answer (3] I the data e
ther in slatement | alone or in state
ment 1l alone are sufficlent to answe
the question.

Give answer [4) il the data piven
in both the statemenis | and Il togeth
er are not sufficlent lo answer
question, and

Glve answer (3) Il the i
both-the statements [ and 11 togeiie
dre necessary Lo answer the question

11. How is ‘sure' writien in a cod

language ?

I. ‘heissure is wrilten as ja b
ma’ in Lthat code languag:

I, ‘is she sure' is written as ko
Jama'in that code language

. What is R's position from Lhe |if|

end in a row ?

I. M is tenth from the left cnd

of the row.

Il. There are sixteen childro

between M and R,

How s J related to M 7

I. Mhas Dnl}' one brother aned

two sisiers,

I Jis daughter of T who is wits

of M.

Town P Is towards which dire

tion of town T ?

. Town T is towards South of

' town K which is towarts Wis|

of town P.

Town R is towards South o

town V and towards Easl ol

town T,

Among P, @, R, 5 and T eacly

having different age, whe is (he

youngest among them 7

I. Qisyounger than onky P

L. 5is older than only R

On which day of the week id

Sourav viait Delhi ?

I. Sourav visited Delhi ulter
Monday but before Thursday
but not on an odd day of e
week.

. Sourav visited Delhi belore
Friday but after Monday .

13.

14.

1L

18.




Directions (17-22) : In each of :

the questions Liclow ane j"’ﬁ'l_‘n four stals-"
ments followed by thes bonclusions
numbered L [1 and i, ¥oid have to Gike
the given statements 1o g true even if
they-gepm tohe at VRRpe Irom come
monly known facts, Read all the con-
clusions and then - :tide which of I:hp
given conclusions logically follows

the ghven statemenis dlsnegan:lingmm
monly known facts.

17. Statements :
All chalrs are [ires.
Some lires arc winds,
All'winds are neis.
Sonee nets are clocks,
Conclibions -
I Some clocks are winds,
II. Some nets are fires.
1. Some winds are ehairs,
{1} None {ollows
(2] Only I follows !
(3 Onbyllfollows
(4) Only Il follows
(5) Only Il and 11 iollow
18. Statements :
Some tyres are ropes.
Some ropes are tents.
Some tents are walls.
Some walls are buildings.

Conclusions - b o

. Some buildings are ropes.
I1. Some walls are ropes,
I1l. Some tents are tyres, -

(1) None follows - i
(2) Only I follows 3
(3 Only 1 fallows i

(4) Ounly HI follows
{5) Only I and I {ollow
18. Statements :
All desks are pillars, -
All pillars are clreles,
Some cireles are squares,

Some squares are reclangles, |

Conclusions :

L Some rectangles are pillars, : §

. Some circles are desks,
l[L Some squares are -:Iuniu.

e L3
||-‘!r

. 'What should come in place ol 1
- fguestion mark () in the follow
serles based on the alioe
rangement ?

JEM 591 RU3 »

S {NTaB @rar

(3 %78 (4 ABV

* 15) None of these

-."ﬁ- How many such consonants o
there in the above arrangernu o
3 each of which is irmmediag cly pm
eeded by a number bud ot i
. mediately followed by 2 naaeler
(1) None (2] Une

lﬁl'hm (4} Three

{5) More than three

“. Which of the: following is th it
" tothe right of Lhe ndneteent (o
the righl. end of the ahove <
rngement ?

M

3w (4] 2

(5) None ol these

AV, I all the symbols are dronpe|
from the above arcangemen:,

e which of the following will T b

fourteenth from the lors eud
“(IR F120

@u )3

~18) None of these

1 98, How many such symbols e e oo

" in the above arrangeinenl cach

ol which ls immediately preced

o ced by a nanber and nerdiaeedy
Aollowed by a letter ©

{1) Nane (2) One

(3) Two [4) Thyve

i 18) More than three

*qu

{1} None fallows

() Only I follows

(3) Only Il follows

4) Only 11l follows

{5} Only I and Il fullow
20. Statements :

Some beads are rings,

Some rings are bangles,

Directions (29-34) : In il [0l

.mﬂutﬂliﬂlm the symboals s, & v,
@ and © are useil with the hﬂ.-:-mn,_.

as ilustrated below
'F_" * O means Pis nol greaier

P @ Q' neans P s neiiher

5 .p‘mler than nor egual to '

PR Q means Pis not smaller

P % Q means 'P is neither

ﬁﬁlﬂﬂer than ner greater than ().

Pﬁﬂ mepns P s neither sioallor
:ﬁﬂn nor t:qual to Q.

- Now ineach of the following ues-
'lm assuming the given statciments
!l:rbe true, find which of the three con
m:m[ Il and 11 given below them
lsfare definitely true and give vour

L answer accordingly.



29. Statements !

REK.KEAM MuJ
Conclusions !
. JEK ILM@R
MmMuBR '
(1) None is true

(2) Only | is true

(3) Only 11 is true

+ (4) Only either I or IIl is true

(5) Only Nl is true

30. Btatements :

31.

DK K%F F@B

Conecluslons ;

I. F&D LLEBE@K

L B% K ’

(1) Only 1is true

(2] Only 1l is true

(3) Omily 111 is true

[4) Only either [ or 1l is true

(5) Only either If or [l and I are
true

Statements :

HkW Wa&N N®%ER

Conclusions : .

I. REW ILNBW

N.H@R

(1) Only I and [l are true

(2} Omly IT and HI are true

(3) Only 1 and I are true

(4) All 141 and I are true

(5) None of these

" Siatements ;

Z%WM. MxF,FaD .
Conclusions : :

I. F%Z I P&Z
Mmpaz '

(1) Only 1 is true

{2) Only elther | or I s true
(3) Only II is true

(4) Only IIT is true .

(5] None of these
Statements : 4
R6B,BON, N@T
Conclusions :
. N@R
L. TR

(1) None is true

(2) Only | is true

(3) Only Il is true

(4) Only Il is true

{3) Only | and II are true
Statements: ==
WEK KR R®%N
Conclusions :

l. NeK ILROW
M. WaN

IL'TéB

(1) Only [ and Il are true

(2) Only gither Il or I11 1s true

(3) Only I and 11! are true

(4) Only I and [ are true

(5) Al 1, Il and IIT are true
. Directions (38-40) : In each
questions below Is given a group of let-
ters followed by four combinations of
digits/symbols numbered (1), (2}, (3)
mﬂ[#];muhmmnudqutwmnhor

‘| the four combinations correctly repre-

sents the group of letters based on the

'| following coding system and the con-

ditions that follow and mark the num-
bwd’thummbm;ﬁm-mmm..
Ifmngnf.thcmhlnaumumn'ecﬂy
represents the group of letters, mark
(5} i.e. ‘None of these’ as your answer.
ElAlulm|o]A rla]ifo i

JHOBLE

,i|4 e 1
Conditions :

@ If the first letter is a consonant
and the third Jetter s a vowel,
their codes are to be inter-

{t If the first letter is a vowel and
the fourth letter Is a consonant,
both are to be coded as the code
for the vowel, .

|t} If the second and the third let-
ters are consonants, both are to

be coded as the aode for the third

86, EMIRDP.
(1) #9%978"  [2) #%0#E%

(3) T960#B % (4) #9%67S%
{5} None of these

8. HUBDIM :
(1186289% _ {2)©2680%
(3) ©62800 (4] ©E200%
(5) None of these -

'87. PWZERA
(1) 581478  (2) 588478
(3) 581748 - [4)BI1ATS
(B) None of these

S8 POMHZ "
(1) *49%01 (2) %40kE1
(3 *49401 (4) B4D%O1
(5) None of these

39. NUBAQE
(1) 263844 - (2) 326844
(3) 36284 (4) 362834
(5) None of these

: g L
e H

40, OREDHM = . .
(1) @7#80% (2) #7wBDo:,
(3) @TBATRG | 1) BTHOTH
(5) None of these
Directions (41-48) : Stiicly (h
following Informatidn ’t?]‘eful{}r and an
swer the questions gien below:
ABC, DI. E F:G Hand K are
sitting around a circlé facing the cen
tre. B s fourth to the left of G who i«
second to the right of C. Fis fourth 1«
the right of C and is'second to the Ieii
of K. A is fourth to the right of K. D i=
not an immediate nelghbowr of et
Kor B. H Is third to the right of ..
41. Who is second 4o ghe.right of 1
- yc (2) H
(3) F 4 E
(5) Data inadequate
42, Who is third to the right of H 7

(1A (2) D
3G 4 F
(5) Nene of these

43, Who is fourth to the left of E
1) A
vile
kN e

" (4} Data nadeguate

(5] None of these

44, Who is fourth to the righl i 13
MK @ H
3 E 4 B

(5] None of these

4B. In which of the following combi
nations Is the third person =it
ting in between the first and the

second persons 7

(1) EKB {2} CHB

{3 AGC 14] FGD

(5] None of these

Directions (46-80) : Study 1l
following information carefully and an
swer the given questions :

Aword and number arrangeicnt
machine when given an Inpul liie o
words and numbers rearranges (heim
following a particular rule in eachi sic).

| The following Is an lllustration of inji:!
and rearrangement.
Ihput : day 74-night 36 25 63 .l
for
Step [ : all day 74 night 36 25 65
. for ;
Step 11 : all 74 day night 36 25 G4
far
Step 111 : all 74 day 68 night 36 25
for



Et,:p"nr'” all 74 day 68 for night 36
i Eﬁlllll'll
StV an ‘?4‘&3 68'for 36 mght
! e g R TN
' ﬁ_ndﬁttg"‘f is the Ydst step of the
miﬁangcn‘feﬁf ?mn above In-
ut.
Lpermeml s followed in the
above steps, find uut in each of the
following quéstions the appropriate step
for the given input.
48. Input : war 52 and peace 43 16
now 24
How many steps will be required
to complete the rearrangement ?
(1-Fousiyi. - (2) Five
(3) Six {4) Seven
(5) None of these
Step'Ill of an Input.
goal 12 33 like high 46
Which of the following will be
step VII 7 H
(1) bond 86 goal 46 like 12 33
high

47. bond 86

ﬂ}bondﬂagualdrﬂhlgl'llikcﬁﬂ

(3 bund BEgoaHﬁthhE&ﬂhe
12

[4) There will be no such step
(5) None of these

Step Il of an Input is . car 73 18
25 wear 48 Jong for

Which of the following is definite-
ly the input 7 -

(1) 18 25 wear 49 long for car
73

(2} 73 18 car 25 wear 49 long
for

(3) 18 73 25 car wear 49 long
for

(4] Cannot be determined

(5) None of these

Input : mind new 27 35 19 59

own tower

Which of the following steps will
be the last but one ?

(1) v1 @

3v 4) vii

{5} None of these

Step IV of an Input : déar 63 few
51 16 29 yes now

How many more steps will be

49,

&

required Lo mmpleti: the arrange-
ment ?

(1) Four (2) Five

(3] Three 4) Two

(5) None of these

Directions (51-85) : Study the
following information carefully and an-
swer the questions given below :
Following are the conditions for
sehcungummtﬁahmhmw

mm.m-t—

i be a graduate with at least 60
percent marks. |

{# be not less than 21 years and not
moré than 28 years as on
01.01.2010. .

(i) bglrud:r to pay Rs. 50,000 as

{iv) have secured at least 40 percent
marks in the selection examina-
tiom.

) havemmdttléutmpumt

marks in personal interview.

In the case of a candidate who

hullth&dullﬂnmm

tions Except—

{@) at () above, but has secured
at least 65 percent marks in
the post graduation, the case
is to be referred to GM-Per-
sonnel,

(b) at (i) above, but is ready to

sign a bond for one year, the

case I8 to be referred to ED-
Personnel.

In each question below are given
details of one candidate. You have to
take one of the following courses of
actions based on the information pro-
vided and the conditions and sub-con-
ditions given above and mark the num-
ber of that course of action as your
answer. You are not to assume any-
thing other than the information pro-
vided in each question. All these cases
are given to you as on 01.01.2010.

Mark answer (1) if the data pro- |

vided are not adequate to take a deci-
sion,

Hnlmmfﬂucuﬂdm
is to be selected.

lhrtm{ﬂifmemndldm
is not to be selected,

Mark answer (4) if the case Is to
be referred to GM-Personnel,

Mark answer (8] if the case is (o
be referred to ED-Personnel.

B1. Anuj Soren was born on 25th
March 1984, He has secured 58
percent marks in graduation and
63 percent tarks in post gradu-
ation. He has secured 50 percent
mmmuhummm*

1

tion and personal interview. He
is ready to pay security deposi:
of Re. 50,000

82, Namita Jaiswal has secured 62
percent marks in graduation anc
52 percent marks in the persan
al interview. She is born on 12th
July 1983. She is ready to pay
securlty deposit of Rs. 50,000,
She has secured 46 percent
marks in the selection examina
tion.

B3. Abhinav Ghosal has secured 52
percent marks in the personal
interview and 40 pereent marks
in the selection examination, He
can pay Rs. 25,000 as securiiy
deposit. Alternatively he can sign
a bond of one year. He was born
on 3rd December 1984, He has

+  secured 63 percent marks in

graduation.

Sohan Awasthi was born on 8th

June 1987. He has secured 55

per cent marks in both selection

examination and personal inter
view. He can pay security deposit
of Rs. 50,000. He has secured

68 percent marks in post gradu-

atlon and 59 percent marks in

graduation.

Seema Biswas was born on 15th

May 1985. She has secured 85

percent marks In graduation and

70 percent marks in post gradu-

atlon. She is ready to pay

Rs. 50,000 as security deposit.

She has also secured 45 per cent

marlmin the selection examina

Dlrwﬂﬂli (36-80) : In each
question below Is given a statement fol-
lowed by two assumptions numbered
l'and Il. An assumption is something
supposed or taken for granted. You
have to consider the statement and the
following assumptlons and decide
which of the assumptions is implicit in
the statement.

Give answer (1) il'unl}rﬂssump
tion 1 is implicit,

Give answer (3) if only Assump-
tion I1 is implicit.

Give answer (3) if cither Assump-
tlon I or Assumption 11 is implicit,

Give answer (4) if nelther As-
sumption [ nor Assumption II is im-
plicit.

" Gdwe answer (B) if both Assump-
tion 1 and Assumption Il are Implicit.



86. Statemeat : The government has

decided to earmark a separate
lane in the metropolis for passen-
ger yehicles with more than one
occupant.

- Assumptions :

B7.

. Btatement : The

[. The move may help decongest
the roads of the metropolis.

II. Many people may resort to
pool car system to avoid traf-
fic snaris. , ’

Statement : The civic authority
of the metropolis has decided to
suspend sanectioning of new
building proposals for six months
and assess the impact of the eur-
rent building projects on the city's
amenities. :

Assumptions ;

I. Thebuilders' lobby may move
the court against the civic
body's decision,

II. The civic authority may be able
to complete the Impact study
in about six months.

Btatement : The railway author-

ity has announced that it will car-

L. e may reschedule their
journey in view of the railway
autherity’s decision.

1. People may still plan their
travel by train between the
two cities even on these two
days. _

government has
directed all the degree colleges
to declare results of all the ex-
aminations within a fortnight af-

ter the last date of &lﬁhuum

m;

I. The authorities may

not be able to declare all the
results within the stipulated
time, -

I1. Many college authorities may
not be able to conduct all the
examinations in time.

. Statement : Manish invited all his

friends to his house for dinner

on his birthday and requested his

mother to arrange for the birth-

day party.

Assumptions y

I. Most of Manish's friends may
attend his birthday party.

II. Manish's mother may be able
to make all the ts
Including food for all his
friends.

. Directions (81-88) : Below s
.gven a passage followed by several
possible inferences which can be
drawn from the facts stated in the
passage. You have to examine each in-
ference separately in the context of the
passage and decide upon its degree of
truth or falsity.

. Mark answer (1) if the inference
is 'definitely true', 1., it properly fol-
lows from the statement of facts giv-
en.

Mark answer (2) if the inference

Is ‘probably true’ though not ‘definite-

ly true’ in the light of the facts given.

. Maxk answer (3) if the ‘data are

inadequate’, i.e., from the facts given

you cannot say whether the inference
is likely to be true or false,

- Mark answer (4] if the inference
is ‘probably false’, though not ‘definite-
Iy false’ in the light of the facts given.

Mark answer (8] if the inference
is ‘definitely false’, i.e., it cannot pos-
'sibly be drawn from the facts given or
it contradicts the given facts. -

Privatisation {8 no panacea when
it comes to education. Nor can high-
cost Intervention at the tertiary stage

produce quality talent, The backbone
of quality education Is primary school
ing. And impro ] i= not jusi a
question of funding. The government
has taken some steps (o improve the
situation by mcrmrp:g credsing the percentage
of allocation in the budget. But it has
done precious little to increase the «f-
ficacy of public spending in education.
For that is a political and adminisira-
tive tagk. Teachers who do not turn
up to teach at rural schools (absentee
ism is about 30% according to one es
timate] and teachers who are not
equipped or motivated to ' téach but
continue in service with challenge are
part of India's soclo-politiedf realily.

61. The Indian Government has not
done enough to improve the
quality of secondary education.

83. Allocating more funds in the
budget for primary education wil]
substantially improve the quall
ty of éducation. -

83, Quality of education ls ensured
in all the privately run education
al Institutions in India.

84. Government has been unsuc
cessful In achieving the desired
resull in education.

88. Motivating the primary school
teachers and Improving atien-
dance of these teachers are mu-

Jor challenges in India.
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Directions (76-80) : What will | 81. The ratio of the ages of Tina and
come-in place of question mark Rakeshis 9 ; 10 respectively. Ten |
(?) in the following gquestions ? years ago the ratio of their ages
76. 15% of 578 + 22.5% of 644 = ? ‘E‘"“ﬁm-m“l
(12314 (2 2336 [“‘21:"-"!"““5”'2;“"”
(3) 231.8 - (4) 231.6 %0 vite .2 20 years
(5) Hone of these 9 30, W 2,
{5) None of these -
3E+42_31 " 82. The circumference of two circles
ey tis s is 132 metres and 176 metres
respectively. What is the differ-
) Ll a) 5L ence between the area of the larg-
40 40 er circle and the smaller circle 7
(1) 1048 &g, metres .
40 40 (3 1078 sq. metres
(5) None of these (4] 1090 sq. metres
78 23 % 15-60 + 7 +31 =202 (5).None of these .
{1218 2) 186 83. What would be the compound
(3 217 4 201 interest accrued on an amount of
(8 None of these Rs. 7,400 at the rate of 13.5
p-c:p.a. at the end of two years ?
- 343x49 {rounded off to two digits after
" 216x16x8] decimal)
(1) Rs. 2,136.87
7% 78 2) Rs. 2,306.81
o @ & (3) Rs. 2,032.18
. '(4) Rs. 2,132.87
78 P (5) None of these
3 o (4] oF 84. In how many different ways can
the letters of the word 'OFFICES'
(1) 2520 (2) 5040
2 ? .
80. 52x14-6x7+(4)f =18, 2060 1 1880
(11 2 3 (5) None of these

80, 30NU 1Invested 1% more than
Mona, Mona invested 10% less
than Raghu. If the total sum |
their investment is Rs. 5 780
how much amount did Raghu i:
vest ?

(1) Rs. 2010
-[2) Rs. 2000
(3) Rs. 2100
(4) Rs. 2210
(5) None of these
- Directions (88-80) : In the follow
Ing number series only one number i-

wrong. Find out the wrong number.
B8. 13 25 40 57 79 103 130
(1y 25 2) 40
(357 (4 79
- {58) None of these
- B87. 850 600 550 500 475 4627
- 456.25
(1) 80O 2) 550
(3} 500 4) 462.5
{5) None of these
88. 2 10 18 54 162 488 1454
{1) 18 {2). 54
(3) 182 4 10
(5) None offhese
89. 8 12 24 46 72 108 152
1112 (2) 24
(3 46 4) 72
(5) None of these
80. 142 119 100 B3 65 59 52
(1) 65 (2) 100
(3 59 (4) 119
{5] None of these

Directions (91-88) : In the

following questions two equations num
-bered 1 and I are given. You have (.

solve both the equations and
ﬂnmm[lilf.uy
Give answer (2) If x> y
Give answer () H x < y
Give answer (4) f x< y
mﬂm'lm'HJtFyDr the

relationship cannot be established.

BLI 2¥+1lx+14 =0
IL 4 +12y+9=0

8.1 F-4=0
I ¥+6y+9=0

B3. 1. £-7x+12=0

COIL P ry-12=0

.1 =729

I y= J7og
86. . x'-227 =308

1. i + 321 = 348



Directions (98-100) : Study the table carefully to answer the questions

that follow. .
Percentage of marks obtained by six students in six different subjects
\% Hindi g el Math 8.0tud, | Samakrkt
lowt of 178 | fout of 80) | (out of 125) fowt of 100] | (owt of 120) Jout of 35)
A &7 B Y] 6 a9 [T
B 56 88 37 74 &7 78
C 63 71 81 M 44 #6
D 48 57 70 70 68 4
T E B3 83 15 77 55 50
F T4 [T 42 __ 63 81 58
88. What are the average marks ob- | 102. 3942 + 64 + 3= ?
talnm; by all the studenits in Sci- (1) 28 (2) 32
ence ’ ) 21
(1) 87 12} 86.5 :5:?1 w17
(3 80 4) 875 -
(5) None of these | lm‘qlx-4,ﬁ_x?l.?
7. What are the aversge marks ob- 07 2
talned by student F in Hindi, (1) 68 2)72
English and Science subjects to- (3) 93 (4) 84
gether ? (6] 101
1) 78 @ 82.4 104. 12.564 x 22.000 x 17,932 = 7
©f None of these (3)4800 - (4) 4959
98. What are the total marks obtained (5] 4350

by D [n Hindi, E in Secial Stud-
les and C in Mathematics to-

gether ?

(1) 258 (@ 244
(3) 235 4 210 ~
(5) Nong of these

B9, What is the respective ratio of the
marks scored by E in Science
and Hindi ? .
(1)35:83 (2 61:78
(3)83:35 (4 7561
(5] None of these _
Il a minimum of 101 marks in
Science subject are required for
opting science stream in the next
academic year, how many stu-
dents will not be able to opt sci-
ence stream due to, insufficient
marks In Sclence pubject ?
(1} None m.jrm
(3) Four (4) Pive
(5) Three - .
Directions (101-108) : What
approximate value should come in
place of the question mark {7 in the
following questions 7 (Yo are not ex-
101. 18% of 608 + 27.5% of 450 = ?
(1) 220 @) 2338
3) 267 - (4248
(5 274 '

100,

108. 16.878 + 27.007 + 36.984 -

12.969 - 9.003 = 7

{72 {2) 42

i3) 80 4 51

(5) 65

Directions (108-110) : Study the
information carefully to answer the
questions that follow .

On the occasion of an opening
ceremony of Sports. events, in a sta-
dium there are total of 600 players who
are participating in four different events
viz. Athletics, Table tennis, Kho-Kho
and Lawn Tennis. The ratio between
male to female players is 11 : 4 re-
spectively. 30% of the female players
qut of total female players are partici-
pating in athletics. 108 of fernale play-
ers out of total female players are par-
tigipating in table tennis. The remain-
ing female players are participating in
kho-kho and lawn tennfs In the ratio of
1.3 3 respegtively. The ratio of male
players who are particigating in athlei-
ics and other events together 1s 3 : 5

W”& of those male players
o are not participating in athletics |-

108. What is the total number of |-
male F‘F-TETB wheare partici)
Ing in atheticsynd kho ki 1
gether 7 g
(1) 68 2} 72
(3) 58 W) 67
(3] None of these

» What is the ratic between the

male players participating in

Lawn tennis and female plaver.

participating in table tenms 1

spectively ?

(y 11:72

{2 11:38

3 11:16

4 16:13

(5) None of these

What is the difference pelwien

male players participating in ko

kho and female players pariici
pating In lawn tennis ?

() 27 (2) 31

- [3) 83 4) 76
" (8] None of these
109. What is the total number of iy
ers (hoth males and females 1o
gether] Pﬂ.ﬂlﬁpﬂllﬂg it table (e
nis and athletics together *

108.

(1) 360 [2) 358
[3) 374 4 306
(5) None of these

110. What Is the ratio belween the |+
male players participating in L

tennis to table tennis respe

tively ?
9.5 2147
37:4 49:2

(5] None of these

Directions (111-118) : Study ihe
following table carefylly to answer the
questions that follow :

 Production of Sugas (in tonnes) |
of three different States over the |
yoars j

Yaar | 2003
Sta

2004 2005|2006

P13

3 | 48
Q 31

37

a8
44

.53
51

R 38 |47 |58 68

111. What is the average production
of sugar of State R for all 1he
years together ?

{1) 6.24 tonnes
(2) 6.3 tonnes
(3) 7.1 tonnes
(4) 6.1 tonnes
{5) None of these




: i production of
1§ qw gtum 2006 to
71:-'“] Y gl -1"
(e " ge
4 . uigli0

*hm s L

uq. What s éhe between
' the total of sugar of
all ‘the thres btates together in
mmm-upacmy?
(1) 6.91onnes{2) 4.3 tonnes
(3 6.1 tonnes(4) 5.1 tonnes
(6] Noneof these

114. What s the average production
of gugar df all the three states in
2003 and 2004 together ?
(1) 4.1 ionnes(2) 4.7 tonnes
(3} 5.1 tonnes(4) 4.8 tonnes
{5} None of these

118. What is the ratio between total
production of sugar of all the
three siates in yeap 2006 and

2007 respectively ?
79 . 2)6:7
[3)8:7 [4)7:8
Bl 12

Directions (118-120) : Study the
following Pie-chart carefully to answer
these questions.

TOTAL EXPENDITURE :

Ra. 80 LACS

Computer
labatalory 18%

Publication ol
Jourmnals 15%

& i Sporlé
18%

Expcnd;mﬂhﬁbyﬂahuﬁty

118. What is the difference between
the expenditure made by univer-
sity for Publication of Journals
and Psychology Laboratory 7
(1) Rs. 4 lacs
(2) Rs. 3 lacs
(3) Rs. 4.2 lacs
(4) Ra. 3.8 lacs
(5} None of these

117. What 1s the respective ratio be-:

tween the expenditure made by
university on research work and

purchane of books for library ? -

(1} 4:5 @5:4
(3N8:3 M8:5
{5) None of these
118, Wlmt.lq Jotal gpum of expendi-
jwork, purchase
uf 4 projectors for Ph.D.
Classes and purchase of books
for Library together ?
(1) Rs. 22.6 lacs (2] Rs. 22.8 laca
(3) Rs. 23.4 lacs (4) Rs. 20.8 lacs
{5) None of these
119. Which of the following is defi-
nitely trus ? i
(1} Ratio between expenditure of
university for the purchase of
library Books and expenditure
, on wmputer laboratory Is
3. ] respectively
(2) Expenditure on medical facili-

ties for students is Ra. 46

lacs
{3) Difference between the expen-
dittire on research work and

medical facilities for students |-

Is Rs. 60,000.
i4) All are true
i5) None of these
120, If the expenditure on purchase
of overhead projectors for Ph.D,
students is decreased by 7%,
what will be the enpmd.'lr.ure on
the same after the decrease ?
(1) Rs. 1,33,920
(2} Rs. 13,389,200 .
3 Rs. 1,02,000
{4) Rs.'1,08,000
{5) None of these
Directions (121-138) : Study the
following graph carefully to answer
these guestions. -

Number of studgnts in College A
and College B over the years

00 callagi A -

W Cellaga B

L =}
L= =]

=~
=]

Number of Students (in thousands)
= ga
=5 S

1003 2004 3006 MIW 2007 1008
Yanr

131. What s the aversge number of
students in College A for all the
years together ?

(1} 45000  (2) 50000
- (352000 - (4 48000
[5) None of these

122. What is the approximate per-
centage rise in the number of stu-
dents of college B from 2005 w
2006 ?
)8
34
@ 20

123. What is the ratlo between the ta-
tal number of students of College
A in years 2004, 2006 and 2007
together and the total number of
students of College B in years
2003, 2004 and 2008 respec-

" tively ?
(1) 35:32 (2 33:37
(934:31 (432:35
{5) None of these

124. Number of students of College B
in year 2008 {8 what per cent of
total students of College B in all
the years together ? (Rounded off
to two digits after decimal)

(1} 20.61 (2) 23.79
(3 21.79 (4 17.20
(5} None of these
128. For which college(s) and in which
year was the per cent rise in num-
ber of students from the previ-
ous year the highest 7
{1) College A in year 2004 and
College B in year 2005

{2) Only College B in year 2004

{3) College A in year 2004 and
College B In year 2004

{4) College A in year 2007 and
College B In yegr 2004

(5) None of these.

212
4 15



GENERAL AWARENESS
128, mmmmW&&
tor Assessment (CFSA) set up by

the Reserve Bank of India has
ﬂmMnmmMHmum

127. A bank normllydnumhmre
to deal w:th an issue rclatcd
to___

(1) P'M“Fﬂfamduﬁhmm“
(2) cmmwmuﬂ'mﬂm

lﬁlmmm
tors active in banking/finan-
clal sectors, .

128. Many times we read in newspa-
pers that some bankis) has/have
to write off certain
advanced by them, I
terminology, whltdmmnﬂ'
mean 7
] Lm-ucuuud-nnpnper

but baink has yet tomake pro-
vision for the pame po that
money _

(2) Big corporate loana for which
bank has/have to take ap-
prm:lfrmnﬂﬂl.

B]Lumforwhlph_dig.mm~
Hnnwm-kllﬂttqbemm—
pleted

[4lﬁldmdunmllwtﬂkhm
Hﬁmlﬂnmvhlchﬂnnmr
become bad or ugcollectable
luu.nnuthqrm#mundu
some  soclal ‘“msaietance
mwmmu

in

last two/three months, What

does It Indicate 7 © - _

() It has raised fréah doubts
about the reality of the eco-
nomie recovery of *18 coun-
try strong” Euro sone,

Hmmmuuubnmm

{C) Euro zone countries do not
wish to import much from In-
dla, :

() OnlyA  (2) Only B
@) OnlyC  (4) AllA BandC
(%) None-of these
130. Who amongst the following was
the chairperson df'the
Group on Benchmark Prime
Lending Rate (BPLR)" constttuted
by the Reserve Bank of india ?
(1) Dr. K. C, Chakrovorty
(3 Mr. Deepak Mohanty
(3) Mr. R. Bhaskaran
(4 °Mr. 0. P. Bhatt
(5 Mr. M. V. Natr
‘The Index of Industrial Produc-
tion (1P i comiplled and releaned
- by which of the-following
organisations/sgencics 7
(1) Registrar of Companics

mmﬂnﬁudﬁmm

l'a'!] Bﬂlﬂbqrﬂhtk Mh-lngl.'{-t]'
Reserve Bank of India

(5) Ehﬂmucdal‘ﬂnﬂl

”"’“""“'&:ﬁ“‘ﬁ“ Anancial
newspapers t Public Debt.
 Which of the is/are the
components of the Public Debt ?
(A} Market Loans
tﬂmwm

€y tnm-t-avmg
* nchemes
mamy.t momn
(9 Both (A) and 18)

4 OnlyC  (B)ATA. B, andC
lﬂmmmﬂpwehllcy

announceq the Gov.
ernment ufmwwﬁir b:vaud

upto ___
(1) 2014
(3 ﬂﬂlﬁ

® 2015
, W ‘2020

l.l Which of the following states
launched a speclal scheme under
which 10 kgs. of whole wheat flour
is sold at & fxed price of Rs. 1134
through its select outlets ?

{1) Deihi (2] Harala
(3} West Bengal
{41 Uttar Pradesh
{5 None of these
I.H. Retail investors made Rs. 1.9 lakh
crore in market rally, was the
news in some madjor financial
newspapers recently, The term
“Retail investors™, as used In this
headline, means which of the fol
lowing types of stock market in
veatora 7 .
{1} Promoters of Companies
2} Indivicuals
(3] Foreign Institutional Investors
{4) Mutual Funds
(3) Corporate Bodies
A3 per the news published in
major newspapers, ‘the Reserve
Bartk of Indla [RBI) ralsed Stary,
tory Liquidity Ratio (SLR) by 100
basis points to 25%. What wias/
mtlmmmnh]mhgm which
RBI raised the SLR ?
A 1t will help in reducing liguic
ity in the market,
(B Inﬂaﬂun\lﬂlimrdmmsuh
stantially.
{C) It will facilitate mpmiea Loy
. launch their IPOs as the finan.
clal climate will become cor-
ductve for the same.
< (1) Only A {2) OnlyB
(3) Only A and B
4) Only Band C .
{5) AllA, Band C

138, As per the Reserve Bank of Ind:
(RBI), the economic conditions in
India are not yet sultabie for (ull
m"“ﬂbﬂt)ﬂw Al presen
rupee is convertitile st which of

- the following accounts 7
{A) Fully at Capital Accourit
(B Fully at Current Account
{C) Partially at Trade Account
(1) OniyA " (2) Only B
@ only ¢  4) OnlyAandc
{5) None of these -

13, As hmﬂmﬂﬂn {ssued b
them y the “third payty A rnf;

ted Lo
cértain mﬂ;'imﬂl limiis
only.

157

Wihad doss it really thean 7



(A) The ATM cardholders will not
be able to withdraw from
other banks' ATMs undeér any
circumstances.

(B) Customers of one banlk ma}r
be able to withdraw only a lim-
lted arnount from other banks'.
ATMa.

(C}) ATM card holders will have to |

pay a fee If they withdraw
money from other banks'
ATMs frequently.
(1) Only A (2] OnlyB
(3) OnlyC  (4). Only Band C
{5} Only Aand C
140. As per existing norms and poli-
cies of the RBI, Banks are re-
quired to advance how much of
their total advances to priority
sectors ?
n 30% 2 35%
(3) 40% . . (4} 25%
(3) None of these ’
The rate of interest, bmklolmg:
toits main/major and prime; cus-
lomers s popularly called
as__.
(1} RiskPremium :
(2) Prime Lendirig Rate
(3} Repo Rate -
(4) Reverse Repo Rate
(5 Costolfund
Which of the following govern-
ments has recently inforrhed to
its credittrs that there may be
delays in repayment of loans, it
has taken ﬁmnmrlmmug:pdm;
organisations all over the world ?
(1) Dubai (2) Jdpan
(3) Sri Lanka {4 Nepal
5] None of thease _
143, As we all know, the US S was at
a 15 month low against the bas-
ket of currencies till recent past.
Recently it veached a 14 years
low against ohe of the major cur-
rencies. Which of the following is
that currency ?
{1} Yuan (2] Euro
[3) Rupes (4) Yen
{5 None of these
144. Which of the following was the
first Mutual Fund listed on the
newly launched Mutual Fund
platform on Nat!.mnl Stock Ex-
change ?
(1) UTI Mutugl Fund
(2) SBIMutual Purid

141.

142.

{3) LIC Mutual Fund
 (4) Bank of Baroda Mutual Fund
B Hmel.f'fhue
148. As per the nﬂnpapar
the L and T hu’uad'up with
NPCIL to make fo gs for

nuclear power plants. T
mmhbeﬁ:;dw&uﬁdln
(1) Chennai
(2} Bangalore

. 19 Hagtem | -
(4} Narora . .
(5) Tarapore

| 148. Which of the following is one of
Development

the eight Millentum De
Goals set by the UNO %

(1) Eradication of Poverty and.
(2 Reduction in Nuelear war-
 heads in the world
(3) Total peace .n.m.m Al

ghanistan

() mﬂmhnufw
(5] None of these

147, Tranisport ﬂmay which of

the following is free from levy of
the Service Tax ? i
) mm
MH mmw
o 1
13) All Private mmmpm
Gcmbm-

(4] By the Transport Corporation
munmmm
1 Hmd‘ﬂuu ;

148, The Reserve Bank of India has
dh'ecudaﬂthcbmhmm
thntttummntthelrcutm

wuu'pmdu

is Lomul't"ﬂﬂﬂl of the follow-
ing ?
(1) To ensure that the bank

{alTnmua-:thltnana E

:ﬁm‘oﬂﬂriﬂuﬂ
: cm‘mnnjﬁumuhm]t

10

(L] 'l'hmlurtﬂlﬂ,ll;ldlans do not
* go'to a'natlon where Indians
- are being targeted for racial

diserimination

~ [6) None of these .
HI. As per the decislon taken by the
Government of Indla, all new play
" ers using spectrum band for pro-
viding 3-G spectrum mobile ser-
vice to its customers will have 1o
pay a part of thelr annual rev-
enue as spectrum charges to the
Government of India: What is that
charge in terms of percentage ?
1% @ 5%
(3) 3% (4) 2.5%
(3) Hm:nt‘meu
180. As per the resolution passed in
the Pittsburgh Summit of G-2.

now more weightage will be given
to under -represented nations in

the organisations like IMF eic.
* How much'quota will be shifted

to such nations in this way ?

(1) 5% 2 7%

(3) 10% @) 15%

(5) 17%.

lll. The National s‘m Exchange re-
cently launched Interest Rate
Futures (IRF). IRF in fact is a
{1} new mode of trading specii!
. cally for SME sector
{2) Anancial mede of trading
{3) electronic mode of transfer-

ring money from one account
to another

(4) safest and fastest mode of
trading at all the stock ex-
‘changes of India simulta-
neously .

{5) None of these

182, Parnmbihuilm -Allyar Multipur-
pﬂupmjmmbputed in the hills

lll Nﬂlﬂhﬂhﬂﬂ#
- [2) Periyar hills range
(8) Anamalai hills range
(@) Sahyadr hills range
(5) None of these -
IH. “Which of the following cannot be
. l‘.'ﬂhd @8 a debt Instrument as
in financial transaction?
- m &rttﬂml:nqrdepom
(2 Boads
. (3) Stocks \
* {4) Commercial Papers
(5) Loans



184. Which of the following 1s not a
soclal sector programme launched
by the Government of India ?
(1] Sarva Siksha Abhiyan
(2) National Rural Emptwme:nt

Guarantee Scheme “
(3) Mid Day Meal Scheme
(4) National Rural Health Misslon
{5} Overseas Indian Citizenship
Scheme i

188. Which of the following bndlenf
agencies recently passed a reso-
lution asking all the nations to
sign the Nuclear Non Proliferation
Treaty (NPT) without any further
delay ?

[1) UN General Assembly

(2] International Atomic Energy |

Agency (IAEA)
(3) North Aﬂ.anucﬁﬂtjrﬂlmm
sation (NATO)
(4) South Asian M_mcintlnn of
Regional Cooperation (SAARC)
(5) UN Security Council
156. What is the full form of UNEP, a
term frequently seen in newspa-
pera? -
11} Universal Notification on En
ergy Protection

(2] Universal New Educntlon )

Project .
{3) Universal Natural Energy

Project,

{4) United Nations Education |

Programme

(5] United Nations Environment
Programme

157. Which of the gouiitries

has launched OCEANSAT -2, a
satellite to provide data on ita

oceans ?
(1) China (2) UsA
(3) France (4) India
(5) None n{thm:

188. Which ommfnllm:qmm
tions/agencies has recently re-
leased “World Investment Report :

(1) World Bank
(2) Asian Dmlopmmt Bank-
(3) UNCTAD ’
(4] UNESCO
{3) None of these

159.
Chancellor of which of the follow-
ing nations again for a second
four-year term ?

Angela Merkel has become the | .

(1) Poland (2) Russia

(3) Ukraine - .[4) Germany

{5) None of these.
ment called 'FTA' with India.
What is the full form of 'FTA' ?
(1) Foreign Trade Agreement
(2) Full Trade Agreement
(3) Favourite Trade Acknowledg-

ment tog

(4] Final and Total Appreach
(5] Free Trade Agreement
Which of the following countries
has taken over as the Vice Chair-

munufﬂicﬂrﬂ:mngunfurm
nomic Cooperation and Develop-

ment ?

(1) Thina _
(2) South Korea
(3) North Korea,
(4) India
{5 Iran

» Indla has recently signed a Nu-
clear Pact with which of the fol-

181.

Trophy* the finalof |
' -.irhgg played-in October |
2009

(1) New Zealand '

(2) Australia * (3] India

(4) South Africa '

-[ﬁlNupecl‘ﬂm
Mhﬂnmmﬂupc:rlcht

gﬂlﬂﬂlﬂiﬂmhdﬂm

(1) New Zealand

(2) South Africa

(3) Bangladesh. ... -

(4) England - -

(5) SriLanka -

m%nmem

the 76th Néitional Bilfiards Cham-

20007 1l
(1) Geet Sethi

{2) Dhruv Sitwala
o e
(6) None of these

11

167.

1686. Whoamongst the lollowing won
the Men's Sil'lglm us Open Ten
nis 2008 ? (played in Septembe
2009) ?

(1) Juan Martin del Potro
" (2) Leander Paes
" (3) Lukas Dlouhy

(4] Roger Federer

(5) None of these

“!Eﬂly'mpic Games 2016 will b

organized in the city of_

(1) New Delhi

(2) Paris

(3) Tokyo

(4} New York

(5} Rio deJaneiro

188. Which of the fo[ll}wh‘ig couniries

~ has been adjudged as the largest
exporier of cotton ?
(1) Bangladesh
(2) Brazil
{4) India

(3) Britain
(8) None of these

188, "Maximum Clljr is a book written

by—
(1) V. S. Natpaul
{2} Vikram Seth
(3) Chetan Bhagat
(4) Kiran Desal
(5) Suketu Mehta
l'ﬂl. Which of the following is NOT
considered as a parameter for
- definiing the Below Poverty Line
. (BPL) status of a person 7
(1) Food security
{2) Marital Status
(3] Debt
(4) Literacy
(5) Land holdings
171. Which of the following countries
. has raised objection to India's
‘efforts to make a 608 km long
- soad link throughJammu and
Kashmir, HimachakPradesh, U1-
mmkhmhﬂSHdmuh:lenmLh al
Pradesh ? vf:
(1) China (2) "Eﬂ*l
(3] Myanmar  (4) Bhutan
(5 Afghanistan

1172, ‘CRY s the iifim# 6fthe organi-
plonship/hisld 41 September | e

'uﬂmmhlhh uiﬂs feir the wel!
fare of'_ 1

(1) Cﬂ.ﬂﬂ%r?ﬁﬂtﬂtﬁ*

2) Childrer’ '

(9 Was vicigs

L] Sm;gr(:;t'h:epq

(5) None of these |



173, "Mumbal Gold Cup” is assoclat-

ed with thé gameof .
(1) Cricket (2) Football
(3 Hockey (4] Badminion
15) Lawn Ternis

174, “A Good Woman" is a book writ-
ten by___

" (1) Dario Fo

(2) V. S. Nalpaul
(3) Orhan Pamuk
(4) Herta Muller
(5) Danielle Steel

178, Which of the following Is,/are NOT
called the types of Inflation ?
(A Cost push
(B) Real wages
(C) Demand pull
(1) Only A
(2] Only B
(3) Only C:
(4) Only Aand C
[S) Only Band C N

ENGLISH LANGUAGE

Directions (176-180) : Which of
the phrases (1), (2], (3) and (4) given
below should replace the phrase given
in bold in each of the following sen-
lences to make it meaningful and gram-
matically correct. If the sentence Is
correct as it is and ‘No correctlon is
required’, mark (5) as the answer.
176. We admire they are taking this

step despite the numerous risks

involved

"

(1) them to take
(2) them for taking -
(3 that they have taken over
(4] how their taking of
(5} Nocorrectlon required,
177. We have accepted over two bil-
lion dollars from them yet it is
hqh-i to build hospitals in
ml [l Ty :
(1) thatisyettouse
12) “although it has been used
(3) net yet being used
(4) which will be used
(5] Nocorrection reguired
178. People have respond in favour
the government's efforts to re-
solve the budget crisis.
(1) favourably respix
[2) response in t‘av'a;j: of
() responded thvuumbtytn
(4) been mpanﬂmghmurﬂ:[y
(5) No correction rﬂquirl:d

178. The management has been left

with no option else to change the'

branch timings to avoid losing
business.

(1} but tochange

(2) exceptthe changeof

(3] unless It changes with

(4) otherthan the changing

(5} Nocorrectionrequired
180, Btriking this deal will enable the

»  company to expand its operations
in Europe. :

(1) Strike this deal that

(2] To strike off this deal

(9 By striking this deal to

4) This deal was struck which

(5) No correction required

Directions (181-18%) : Read the
following passage carefully and answer
mcquuuuu-penbehwn Certain
wards have been printed in bold to help
wuluuteﬂmwhnemngm
of the questions. i

MWMthluhm

. while ago was that the region would

suffer through the
already g place inthe U.S. as a
result of the financial' crisis. Stock
markets tumbled as exports plunged
and economic growib deteriorated.
Lofty property pricesin China and else-
whmhckudﬂtob\muundnﬂlht-
en¢d and buyers e But with
surprising speed, fear in Asia swung
back to greed as the reglon shows signs
of recovery and property and stock
prices are soaring in many parts of
Asla, .

Why should this sharp Asian
turnaround be greeted with skepti-
cism ? Higher asset prices mean heuse:
holds feel wealthier and better able to

wealth destruction

- spend, which' could further fuel the

on’s nascent rebound. But just as

ily, Asia could soon find {tself sad-'

with overheated markeis similar
to the U.5. market, In short
the world has not changed, it has just
maoved places.

The Incipient bubble is being cre-
ated by government policy. In response
to the global credit crunch of 2008,

cash in frantic attempts to keep loans
flowing and growing. These
steps were

to reverse a deepening econom-
lc crisis. But there's evidence that

there is too much easy money around. -

12

al for central bankers

it's winding up In stocks and real ¢5-
tate; pushing prices up too far and too

fast for the underlying economic fun-
damentals. Much of the concern is o
cused on China, where government
stimulus efforts have been large and
effective. Money in China has been
especially easy to find. Aggregate new
bank lending surged 201% in the flrs!
Jall of 2009 from the same period o
year earlier, to nearly $1.1 trillion. Ex.
uberance over a quick recovery -which
was given a boost by China's surpris-
ingly strong 7.9% G DP growth in the
second quarter ~has buoyed investor
sentiment not just for stocks bul also
for real estate,

Former U.S. Federal Reserve
Chairman Alan Greenspan argued tha
bubbles could only be recognised in
hindsight. But invesiors -who have
been well schooled In the dangers o
bubbles over the past decade are in
creasingly wary that prices have risen
too far, and that the slightest bil of
negative economic news could knock
markets for a loop, These fears are
compounded by the possibility thal
Asla's central ers will begin tak-
ing steps to shut off the money. Fu
mours that Beljing was on the verge of
tightening credit led to Shanghai stocks
plunging 5%, Yet many economisis
believe that, “there is close to a zer
possibility that the Chinese government
will do anything this year that consti-
tutes tightening.” And without a ma
jor-shift in thinking, the easy-money
conditions will stay In place. In a glo-
bal economy that has produced more
dramatic ups and downs than anyone
thought possible over the past twao
years, Asia may be heading for ancth
er disheartening plunge.

181. To which of the following has the
author attributed the 2008 Asian
financial crisis 7
{4} Reluctance of Asian govern-

.. menis to taper off the eco-

nomic stimulus

(B} Greed of Asian Investors caus-

ing them to trade stocks of
American companies al high
prices

[C) Inflated real estate prices ln

" Aslan countries

(1} None

(2) Only(n) -

(3 Only(C) .

{4} Only {A) and (B]

{5} Only (B



182. Why does the author doubt the
current resurgence of Asian eco-
nomics ? .

(1) Their economies are too heavi-
ly rellant on the American
economy which s yet to re-
cover .

(2} Central banks have slashed
interest rates too abruptly
which Is likely to cause stock
markets to crash '

(3) With their prevailing econom-
ic conditions they are at risk
for a financial crisis

{4) Their GDP has not grown sig-
‘nificantly during the last fi-
nancial year. ;

(5) None of these

183. What is the author's main objes-
tive in writing the passage ?

(1) Tustrating that Aslan econo-
mies are financlally more
sound than those of developed
countries. S

(2) Disputing financial theories
about how recessions can be
predicted and avolded

{3) Warning Asian countries about

the dangers of favouring fast

growth and profits over sound
economic principles

lling China's incredible

and other coun-
tries to emulate it

(5), Advising governments about
‘the ch anges in policy to
strengthen economic funda-

184. What does the author want to con-
vey through the phrase “The
world has not changed it has just

- moved places™ ?

(1) Arpresent countries are more
dependent on Aslan econo-

on the US economy.

(2) Ecdpmics have become
interlinked on account of
globalisation. .

(3) Asian governments are imple-
menting the same economic
rcfurml as developed coun-

i4) Allm::miumnmtptblc
to recession bm.u of the
state of the US économy. .
(5) None of these
185. mdﬂ:ﬁﬁmﬂumh-ﬂd
about the Chinese government's
eflorts to revive the economy ?

(4)

(1) These were largely unsuccess-
- ful as only the housing mar-
ket h:npmvcd

2 Thl government's only con-
cern was to boost investor
confldence In stocks,

(3) These efforts were ineflectual
as the economy recovered
owing to the US market
stabilising.

{4} These were appropriate and
accomplished the goal of eco-
nomic revival.

{5) They blindly imitated the eco-
nomic reforms adopted by the
Us, '

[ 188, According to the passage, which

- of the following factor(s) has /have
had a negative impact on the Asian
stock markets 7 .

{A) Abrupt drop in exports by
Aslan countries

(B] Extravagant disbursement of
housing loans in 2000

(C) Ralsing of interest rates by the
Central Bank

(1) None

{2) Only (A) and(B)

(3) Only (A)

' {4) Only (AYand (C)

(5) All [A). (B) and (C)

187. Why has investor confldence in
the Chinese stock market bam
restored 7
(A) Existing property prices

which are and afford-

(B) The government has decided
to tighten credit.

(C) Healthy growth of the

- economy Indicated by GDP

(1) Only(C) -

(2) Only (A) and (B)

(3) All{A), (B) and [C)

{4) Only (B) o

{5) None of these .

188. Which of the following can be in-
ferred from the passage ?

(A) All Asian economies are recov-
ering at the same pace.

(B) Experts ‘are “apprehensive
about the stafe of Asian econo-
mies despite thelr recovery.

{C) Developed countries should
implement the same economic
reforms as Aslan ones.

(1) Only (A)

13

{2) Only (B) and (C)

(3) Only (A) and (B)

(4) Only (B}

[5) None of these

188. Why do experts predict that Asian

policymakers will not withdraw

fiscal stimulus ?

{4) The US economy Is not likely
to recover for a long time,

(B) Stock markets are yet (o
gain their former levels

[C) Fear of revolt by greedy ciu

ZE0S.
(1) None (2) Only ()
{3 Only (A) and (C)
{4) Only (B}

{5) Only (B) and (C)

190, What do the statistics about loans
given by Chinese banks in 2004
indicate ?

(1] There was hardly any demind
for loans in 2008

(2) The Chinese government has
barrowed funds from the L5

(3] China will take longer than
the US to recover from th
economic crisia

(4) The GDP of China was below
expeciations

(5) Mone-of these

Directions [l'ﬂl-lﬁﬂ-:l s Choose

the word or group of 'words which is

MOST BIMILAR in meaning to the word

printed in bold as used in the passage.

191, Evaporated
(1) dehydrated
(2) melted (3) vaporised
(4) vanished (8] dodged

192. Fuel

(1) petral (2) stimulate
(3 sustain  (4) heat
(5) charge

183, Flooded

(1) surged [, sajurated

(3) overllowed (4), deluge

(5) overcome -

Directions {194-198) : Choose
the word or group which is MOST OP-
POSITE in meaning to the word printe
in bold as used in the passage.

194. Sharp .

(1) tdiAt

(3) naive

(5) gradual
198, Buoyed

(1} htmy

(3 munbt!l

(@ incomplete
(4) Indistinct

(2) stifed
(4) dull

(5) Ehated .



Directions (196 - 208) : Read
varh'sentence 1o find out whether there
i« any grammatical mistake/error in it.
The error il any, will be in one part of
the sentence, Mark the number of that
parl with error as your answer. If there
iw Mo error, inark(S) as your answer,
198. Their [ailure to inspect (1)/ our

{artories i3 a |2)/ clear iIndications

that our (3)/ license will not be

renewed. (4)/ No error (5)

197, ‘The Board's decision has provid-

ed (1)/ employees with the op- |

portunity (2)/ to acquire upto 100
3]/ shares by the company. (4)/
No error (5)

le had telephoned yesterday to
(1)/ ask how much of the youth
{2}/ who attend our classes would
be (3)/ interested in working for
a lextile Lumpﬁny {4}/ No error
5

If the manufacturing sector con-
tinues (1)/ to grow at the same
rate for (2)/ the next few months,
I think it {3)/ has a high growth
rate this year: (4)/ No error (5)
The success of the (1)/ govern-
ment sponsor job guarantee pro-
pramme (2)/ has resulted ina (3)/
drastic drop in poverty. (4)/ No
error (5)

We had extensively discussions
(1)/ with the participants and {2)/
obtained their feedback {3)/ re-
garding our new services. (4)/ No
errar (5)

The government is working (1)/
out a new system to compensate
i2)/ those companiesa to sell (3)/
products below the market price.
(41/ No error [5)

Though he has promoted to (1)/
the bank’s board as a director (2)/
he continues to carry out (3)/all
his current reap-cmulbil;ium l{l /
Noerror (5)

198,

199,

200.

201.

202,

203,

g

amount (1)/ of funds now will be
a problem why {2)/ banks are
usually not open (3)/ so early in
the morning. (4)/ No error (5)
We were farced-into react (1)/ as
nd organisation car (2)/ afford to
adhere to {3)/ these ouidated
regulations. (4)/ No error (5)
Directions (208-210) : In each
ruestion below a sentence with four
words printed in bold type is given.
‘These are numbered as (1), (2), (3) and

208,

Arranging such a lnrgc '

(4). One of these four words printed
bald may be either wrongly spelt or
inappropriate in the context of the
sentence. Find out the words printed

in bold are correctly spelt and also |

appropriate in the context of the sen-
tence, mark {5)1.e. ‘All correct’ as your
answer.

- 306. Though these programmes have

proved (1)/ tobe extremely (2)/

effective they do have certain

(3)/ drawbacks, (4)/ Al correct

5) .

207. In order to comnfront (1)/ the
threat (2)/ of global warning it is
imperative (3)/ that we work all

~ together. (4)/ All correct (5)

208. Myunmmmw

the fundamental

regulation

lﬁlhdﬂmhhl H&fﬁllmr

rect (5) :

300. We plan to complete the exhans-
tive (1)/ {2}/ re-
mmuwbym (4)/
Auom';ant[ﬁl

210. Hmhuninmﬂjf*ﬂlbe
definitely (2)/ affected (3)/ since
banks have raised their lending

rates of Interest. (4)/ All correct

B . .

Directions (311 - 315) : Rear-

range the following sentences (A), {B),

(C), (D, (E) and (F) to make a meaning-

ful paragraph and then m the

questions which follow :

() As'a result the non stop ten-
sions- anxietles at work
often result in health related
problems.

(B) The truth is we cannot change

the world of work.
{C) We spend at least half our
waking hours at work,
(D} We have therefore to take
- change and transform the way

lnlrh:lchwcmpmdbuwr'

work environment.

[E} So how ¢dn we control these
problems and perform at
work ?

(1 However we can the
way we feel and deal with var-
lous situafions.

211 Whichnfﬂutulhwh:;mtcnu
should be the LAST (SIXTH] sen-
tence after rearrangement ?
mB . c
(3D ME
5 F

14

“of which has been

212. Which of the following sentence
should be the FIFTH senience
alter rearrangement, 7
B (2)C
3D HE
B F

213. Which of the following sentence

should be the BECOND sentence
after rearrangement ?

1A 2)B
B3cC (4D
5 E
214. Which of the following senience

, 8hould be the FIRST sentence
after rearrangement ?

pa: 2B
3cC 4 D
5 E

218. Which of the following sentence

should be the FOURTH sentence

 after rearrangement ?

ma 2B

(3 C (4) D

5 E

Directions (218-2285) : In the [ol-
luwlngpuuageth are blanks, each
umbered. These
numbers are printed below the pas
sage and againsl each, five words are
suggested, one of which fils the blank
appropriately. Find out the appropri-
ate word in each case.

Clement Atlee became the Prime
Minister of England after the‘Second
World War, Winston Churchill who had
successfully (216) England and the
allies to victory over Hitler was now
rejected by the English people at the
husiings. Labour Party was [217) to
power and Atlee became the Prime Min-
ister, One of his memorable tasks was
that he was {318] in granting India its
freedom. Atlee was born in a well-to-
do [218) bul he always had [220) (or
the poor and the down-trodden. He is
known for keeping (321) and coopera-
tion among his cabinet colleagues. Not
that there were no differences of opin-
len his cabinet members, but
Atlee, by his [223] nature and posi-
tive approach, always managed to keep
them together and had control over
them [F34] being sympathetic to the
cause of India, and granting India frec-
dom, he [33B) many a constructive
activity for his country too, llke nation-
alization of some industries, and stari-
ing national health scheme.



" ety ot | ool e o o
(5) led : 65.(1)| 88, (4) [67.14) | 6a (1)
N7. (averse  (2) close 60.(21| 70.05 [71.(3) | 72.(5) |

Eg;mc *f’"“" | 78.()| 74.0) [78. @) | 76. )
U8, (1) interested (2} instrumenta) | | 77| 78.(3) | 79.(1) [ 80.(5)
(3) eager (4) reluctant - 81.(2)| 82.(3)| 83.(4)| 84.(1
(6) particular [ 88@f 883 87.(] ss.(a)
. :;::'E;h:h? ﬁ}m 88, (3] 20.(1) oL ‘m.E
(5) communty 83.2)| o4 ()| 08,5 96.1a
120. (1) concern (2) reverence 87.(3)| e8.(2)| 99, (1)] 100. (5
gm ) yck 101. (2}{ 102. (3) [108. (4)| 104. (3]
L mm'::'c‘:‘m ; 108. (3)| 108. (2) | 107. (3] 108. (1)
(3 harmony  (4) fatth {1060 (5){ 110. (4) | 111. (4) | 112, (2)
(5} conflict 113. (3] 114. (1) | 118. (4] 118. (2)
222. (Namong  (2)within. 117.(5)| 118, (2) [119. 3)| 120. ;)
(3) between  (4) from
(5)with : 121. () 122, (1) [ 123. ()| 124, (3)
123. (1) withdrawing 128. (3)| 1286, (3) [127. (3)| 128. (4)
(2) gentle 129. (2)| 130. (1) [131. ()| 132. (5)
:ﬂ:;‘:ﬂ";“m 133, (1)] 134, (5) | 188. (1) | 196. (2
) doclle . 137.(3)| 138.12) [ 130. (4)| 140. (3)
224. (1) although - {2) without 141 (2)] 142. (1) | 2148, (3) | 144. (1)
(3) he (4) beside 145. (3)| 148.11) | 147. (1)] 148. {2
125, ' 149, (1)] 100. (1) | 151. @) | 182, (3
(2) imitated . Iﬂ.lﬂrmtﬁ} Ilﬂfﬁl 158. (5)
(3) bypassed 157. (4)] 188, {3) | 150, (4) | 160. (5)
[4) observation 4 :
) 4t {181 (4)| 162. (1) [ 163, 2)| 164. (5)
168, (4)| 168. (1) | 167. (5| 168. (5)
= AHSWEM+§ 169. (1)| 170.2) [171. ()| 172. 9 |.
LWl 24| s@| «p |1l |ime] e
8.3 o] 28] 8@ |||177. @] 178.(3 [170. (1) 180. 5
9.3 102) | 104 | 186 | [181 (1| 182, @ |289. 2| 184, 10|
15,2 14| 18.(8) | 36. () || Y38, (9] 188, (@ | 167, (1| 186, @
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Seindicd Bluld 21 T Py s e 196, (3
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33.12)| 345 38.(2) | 98 (1) | 2O V] 202. @20, (1)] 204. 12
37,14 88.15 39.3) | 40.[@ || (208 (0] 208. (5 207. (4){ 208. (2)
41.2)| a2.13) [ a0y | e || [209. @) mﬁ*ﬂ'l.m 213. (5)
45.(4)| 6.3 | 47.(3 | 48 @) || |21 [ e 215 2)[ 218, 5
49.(5) | 80.(3)| sL.(3)| B2 (2) || |317. (3] 218. (2) [219. (4)] 220. (1)
53.(5)| 84.(4) | o8.(1) | 88 (5 221 (4)} 222.(1) | 223. (2)] 224.(3)
87.2)| 88.1| 50.@) | e0.05 | | [238. 5 o

15

L EXPLANATIONS’
LUWBASKET aFRM
A A
D W3 e a2 ioa
Therefore,
T E R M
N
2 4 @& g9
(4) N
2 R
L R LT I ;
CH R O N @ ¢
]

215 1 2 6 9 [7]
L2 3 5 6 |73

SV T S T

X K
T Z. 7T § T N |

(3 15WI2TBR2BG="
=7=15-12+8+2x8§
=%=15-12+4%x6

=7=15-12+24=]27]

(1) THGFEDC [BA |

IHGFE [E_ﬂ
IHG E

» 3] Meaningful Words = FIST ST

(4) The only son of Sunita’s gran-
father means either father or
maternal uncle of Sunita, There-
fore, the boy is either or cousin
of Sunita,

(3 ﬁéﬂﬂrﬂhg to question, the new

number of wouyld be

165 48 ‘l[pi

.2@ from right



10 (2) poz® yy
p-—2

Therefore,

K

W_—4R
Z“—Sru

11. (4] From both the statements
helis_sure] —— [fa] ba ]
i P N oy

The code for ‘sure’ is elther ‘ja’ or

12. |5) From both the siatementis

1th 16
R's posttion from the left
=10+ 16 + 1 =27th

13. (2] From statement [[

M is the husband of T.
J is daughter of M and T,

14. (1} From statement ]

NW NE
W E
S5W 5E
5

¥rom the diagram it Is clear that

TmmPhtowardaNurthﬂntnf )

18. (5) From both the statementa
P nT p&> R
18. (1) From statemesit |
Souray visitted Delhl on Tueadey or
Wednesday.
Wednesday is odd day. Therefore,
he visited on Tuesday.
From statement il
Sourav iktted Dedhii m’l'hendayor
Wednesddy or Thirsday.
(17-23): '
() All thairs are fires — Unlver-
#al Afftrmative (A-type).
(i) Some fires are winds -» Par-
tieular affinifative (I-type).

(i) No hammer Is dressa — Uni- .

versal Négative {E-type
(M Some hivhmers are not dress-
es —+ Particular Negative (0-
type) . : .
17. {3 Some fires are winda. _

All winds are netls.

I+ A= -type of Conclusion

"Somefires drenéts.” -

Conclusion 1l is Cdnverse of 1t.
18, (1) All the four Premises are Par-

ﬂnﬁﬂmwﬂnﬂm—
chduﬂmﬁmmmuumu-
Premises,

18 (3 ;_l.]l-@ﬂure pillars.

" All giiata are cirtles.

A+ A+¥A-fypeiof Conclugion "J :

“All deaks are circles.”
wnhﬂ-mum

2. {5) ﬂﬂm!ﬂﬂlilﬂ

All bangles are clothes,
[+ A= [-type of Condlusicn - -
"Some rings are clothes” :
'mm.llhummenm._

All bangles are clothes,

Ali clothes lu boxes. . 3l

A+ A= A-type of Coriclusion
"All bangles sire basoes.”

. Conclusion [ s Converse of it,
somumpm c]nthu. "

m:mmﬂmm *

l+A=] wﬁ'{fﬁmﬂm
"Sameriv“bmu

31, (2} Some plilﬂ are knives,

Mlk;‘ummchma.
I+A-ﬁmm&1ﬂm .
cﬂiﬂuﬂdﬁfﬂimdm

-Some chaing are whesls.
;2

All wheéln are poles.

16

|

I+A=] type of Conclusion
“Some chaine are poles™.
Concluslon [ ts Converse of jt,
4} All Stlckl- are hammers.

- No hammer is dress.

A + E = E-type of Conclusion
“No stick is dress™.

Some dresses are doors.

_ All door's are cots,
I + A = I-iype of Concluaion
“Some dresses are cots™.

No hammer is dress.

Some dreases are doors.

E + 1= O -type of Conclusion
“Some doors are not hammers".
Conclusions | and I form Comple-

u:mt.nr_v.rPﬂ:‘l‘h:rdorc elther | or
I fellows.

28, (3 oo -9,

P2 w3 .y
R—-—'n—rla—*a-pﬁ
R—LU—_LQ

2 () J 2450 g% ;
E— 0. %6 .y 8 .,

38, (2 FNumber [Consonant [Numbec]
There Is anly one auch combina.

tom : [AV4]

28, () mhtqﬂuﬂghtunmhfmm
the right mum Bth from the

g, e, T

I 8) Hmmdn‘luqmtbn,mtnew.

sequence woukd be :
FAIZEMPSWRIQERL N ... .
i g

Ldth from left |

II!.HI { Number [Symbol |Letter |

Such comhinations are

[} {1 (7]



(30-34) :
* =
5 ==

# =<0 =2
b =3 i
B AROK=RzK
KiM=K>M '
MxJ=MgJd
Therefore, R 2 K> M g J
L JBK = J>K.: NotTrue
I.M@R = M<R: True
M.M%R = M=R: NotTrue
0.5D@K=D<K
KWF=K=F
FEBE=Fz8
Therefore, D<K« F3x B
Conclosions - '
L. F&D = F>D: Tre
I.B@K = B<K: NotTrue
NLB%K = B=K; NotTrue

B i8 either smaller than or equal | -

to K. Therefore either Il or 11l is
lrue,

MM HNKW=HgW
WeN=WcN
N%R=N=R

Therefore, Hs W< Nw R

I REW = R>W: True
IL NOW == No>W:True
NLH@R = H<R: True

N2AZ%NM=Z=M*
MkF=M<F
FéiD=F>D ..

Therefore, Z=M s F > D
Concluslons »

I. F%Z = F=Z : NotTrue
. FOZ = F>Z: NotTrue

Fis either greatérthan or equal
to Z. Therefore, [ or Il is true.

M.D®Z = DeZ: NotTrue
33.(2IREB=R>B
BON=B:N
N@T=2N<T,
Therefore, R > B3N «T
. N@D = N<R: True
I. T§B = T>B : NotTrue
HLTSR = T»R :NotTrue
HOWOK=W:K
" K8R=K>R
R%WN=R=N
Thencfcre.\tfzﬁ;rﬂ'-n

Conclusions
-I. N@K = N<K: True
I.REW = R<W: True
NLWEN = W N: True
BW2AEMI RDF
11l
2.4 8 %

N .

F

E.
B 1 Il e B B

)

=
'--{—im{—.:'
— e B B3 T
= B - - I - I

g

2
O = A
- col
» —r
E.—-I—N%-m;i—pghg
=
g !

¥

ghumhy?;':—-:&i 0 g

8exs0f0ex

F e R

F
G

41, (2) H is second to the right of K.
42. (3) G Is third to the right of H.
43, (1) Aisfourth 16 the left of E.
44. (4) B is fgurth to the right of D.
48. (4] D ls sltting bétween F and G.
(48-B0) : After careful analysis of the
given Input and various steps of
rearrangement it Is evident that in
" the first step one word is rear-
ranged and in the second step one
number is rearrangsd. These two
_ 8teps are continued alternately till
all the words get arranged In al-
phabetical order and all the num-
bers get arranged in descending
order. E

| 46.18)

Imput : war mm'mns 16

' now 24

Stepl : and war 52 peace 43 16
now 24

17

StepO: and 52 war
16 now 24

Btep Il : and 53 fpw WRF peare 40

- 6 249, PP

Step IV:and 52 pew 43 war peac:
16 24 ,

Btep V: and 52 now 43 peace wa:
16 24 _

Step VI:and .52 now 43 peace 21
war 18

47. (3} I

Step I : bond- 86 goal 12 33 ik
high 46

Step IV:bond 86 goal 46 12
like high,. - .

Btep V: bond 86 goal 46 ugh |
33 like :

Btep VI:bond 86 goal 46 high 1.1
12 like

Btep VII: bond 86 goal 46 high
like 12

48. (4) 1t Is not posaible to determine:

the input from any ghven siep,
40. (5) '
Ipat : mind new 27 35 19

peace 41

OWn Lower

Stepl :mind 59 new 27 135 I
own tower

Btepll :mind 59 new 35 27 14
own lower

StepM:mind 59 new 35 cwn 7

' 19 tower

BtepIV:mind 59 new 35 own 27
Llower 19

80. (3)

BtepIV:dear 63 few 51 16 20 yis
now

BtepV :dear 63 few 51 now 16
20 yes

Btep VI: dear 63 few 51 now Lo
16 yes

Btep VI : dear 63 few 51 now 24
yes 16

(51-55) :

Candi- Criteria i

date | (i or(a) | {i}|(i) or (bj|(iv) | v,

My x| x|/l -l

Namita |« | - [/ ] -1

Abhinay| v | - | |- | « RS

Sohen |- | sIv/Tv [ -Tv]v]

Seema [/ | /1717 | - |v ni

81. (3) Anuj Soren does not satisly cri
- terlon (i} or (a). Therefore, he can
not be selected.
B2. (2) Namita Jaiswal does satisfy a1l
the criteria. Therefore, she can I
selected.



83. (3] Abhinav Ghosal does satisfy | 88. (1} The last three line of the pas-

criteria (1), (i), W1, {iv} and [v). There-
fure, his case would be referred to
ED- Personnel.

B4. (4) Sohan Awasthi does satisfy cri-
teria (a), (i}, (i), {iv) and |v]. There-
fore, his case would be referred to
GM- Persgnnel.

58. (1} There is no information regard-

ing criterion (v}, i.e., the marks in

Personal Interview.

(3] It 18 obvious that both the as-

surnptions are implicit in the state-

ment. The Government has taken
step assuming that decongestion of
the roads will improve. Again,
people ‘tnay wish to use the sepa-
rate lane.

87. {2} The assumption [ Is not valid.
Assumption Il seems to be implicit
in the statement. It is clearly men-
tioned that the civic aythority will
assess the impact of the current
butlding projects on the cliy's
amenitles in six months.

B8. (1) Assumption Il is not valid.
People will avoid hardship during
Journey. Assumption [ is implicit in
the statement.

89. |4] The Government has directed
all the degree colleges o declare
results of all the examinations
within a fortnight assiming that
college authority is able to accom:
plish the task.

Thus, none of the assumptions is
implicit in the statement.

80. [5) Clearty both the assumptions
are Implicit in the statement,

8L (1) The contents of the passage_
clearly Indicate that the Govern-
ment has done very little to improve
Lhe quality of education.

62. (2) Congider the third line of the
passage. It indicates that fund is
one of factors for improving qual-
ity of education. Therefore, the in-
ference is probably true as the in-
ference mentions the term “sub-
stantlally”,

83, |5) Consider the very first line of
the passage :

“Privatisation is no panacea when
It comes 1o education”,

It clearly Indicates that quality of
educatlion is not guaranteed even
in the private inatitutions.

84. (1) The theme of the passage Indi-
cates that the Inference is definitely
true.

5a.

sage clearly indicaie that the In-
* ference {s definitely true.

68. (4] From Problem Figure (1) to 2)
the middle design does not change
while the other two designs move
ene-half step in anticlockwise di-
rection afier being rotated through

. 90° anticlockwise. From Problem
Figure {2) Lo (3] one of the designs
mave to the opposite side. These
two steps are continued allernately
in the subsequent Agures.

§7. (4) The [ollowing changes occur in
the subsequent figures :

{1} to (2) (2) to (3)

% oo

i
TN & —38—>0

These two stéps are continued al-
ternately In the subsequent figures.
68. (1) The following changes occurin
the subsequent figures :
(1) to [2) 2) te (3)

lem=~

s s 9
N NI

30 sg-20 0

These two ateps are continued al-
temately In the subsequent figures.

88, (2) The following changes occur bn
the subsequent figures :

1) to (2)
N
L]

Ll — L. ]

(2) to (3)
..H L

(3) to (4)
—tpy
T N. l |
& drr———

These three stepa are continued in
the same order in the subsequent
figures. '

70. (5] From Problem Figure (1) to [2)
the leftmost and the rightmost de-
slgns intercharige positions. Simj-
larly, the twd pairs of vertical de-

signs interchange positions among
themselves and the two central

18

tdesigns are replaced with new de
signs. Similar changes occur from
Problem Figure (3) (o [4) and fram
Problem Figure (5] to Answer Fig-
ure.

71. (3) From Problem Figure [1] 1o (2!
the shaded part of the central de-
sign becomes white and vice-versa
while the other four designs move

~ one step in clockwise direciion al-
ter being rotated through 90°
anticlockwise. Stmilar changes oc-
cur from Problem Figure (3) to (4]
and from Problem Figure [5) (o
Answer Figure,

72. (5] The design (B} moves one step
in anticlockwise direction after be-
ing rotated through 90° clockwise
Now we can eliminate Answer Fig-
ures (3] and (4). The circle moves
one atep in clockwise direction al-
ter every lwo figures, Mow we can
eliminate Answer Figure (1),

73, (1) In the subsequent figures re-
apectively two, three, three, four,
four.......... elements are added (o
complete the patiern.

74. (2} In each sigp the plane of de-
sign mlﬂltﬂlhz.lﬂ'l 45° antlciock.
wise and from Problem Figure (1)
to (2} the first and the last designs
are replaced with new designs
From Problem Figure (2] to (3) the
first design moves to the Jast posi-
tion: These two steps are contin-
ued n the subsequent figures al-
temnately,

78. (3) The lollowing changes occur
from Problem Figure (1) to (2) -

—os— 1|

Similar changes occur from Prob-
lern Figure (3} to (4) and from Prob
lem Figore |5) to Answer Figure,
15x578 +' 225 %644

100 100
= 86.70 + 144.90 = 231.6

78.(4) 7=

1
4- =_1
ﬂ,m?.[m- E«ZI-I-[4+5 E]

i H[SMIE-—&J
40



41 1 41 1
el Y0 Y

78.(3) 345-&(}(311-292

o 2-=202-28547

31
=7+ 81 x 7 =217
I
(1) 7= 49

216x18x 81

?3172

[21(3]3!24::34. EF

BO. (5) y25x14 - 42+ (4] =18

=350-42+ (4" =18 x 18
= 308+ 47 = 324
= 4" =324 - 308 = m,-a:I
=7=2
81. (2 Leiihcprmtcmngud‘ma
and&akeahbegandwxm
respectively,
10 years ago,
Sx-10 4
10x-10 5
= 45x - 50 = 40x - 40

I“I =
= 5x=J0 = x= ‘:,‘E-'Z .
. Rakesh's present age

=10x=10x2 -mm
82.13) 2nr; = 132 :

=5 2 x %*"1'13’

182%7
2x22
Similarty,

‘MKT

2:1.-' =1TB=}r m ————

%22 28 metre
. Difference between their area

=r= =21 metre

=x ([F-1F) = alm+n)a-n)

22 )
u— % =] i
7 X40x7 = 1078 ‘aq. metre.

R T
83.(4)ClL=F [Hm)_ =1

'.H[ﬂﬂnpﬂtﬂmh:

87, (1) The pattern ia :

- ?40:{{1.135]’-1]

= 7400 x'0.286225 = Rs. 2132.87
84. (1) Thé word 'OFFICES' consists of

7 letters out of which letter 'F

comes (wice,

<+ Total number of nm.ng:menta

i

= at

TxBxBX4xIndxl
2x1
88. (2) Let Mona's investment = Rs. 100
Scmu’n ll'l‘litlhmnt Rs.110

1000

and.RBgl'mlhvcumrrt Rs. “a

* Ratio of Mona's, Sonu's and
_ Raghu's Investments
1000

llﬂ:T

e '

= = 2520

= 100 :

=80:89: 100
Sumu{mﬂm-%ﬂﬂ-rlﬂﬂtm
Rﬂﬂ:lulh:m
00 L
= Rs. [% Hﬁ?ﬂﬂ]- Rs. 2000

" 13412228 : 25+ 15 = 40

401-]3-‘5&:

58+21=70

850 - 200 = 650 # [600]

860 - 100 = 550
550 - 50 = 500
500 - 25 = 478
475 - 12.5 = 482.5
88, (4) The pattern is :

.2:'3.-1'5'!
Bxi=18 ;
Mlaslﬂ

88, (3) The pattern is :
B+dxl1=12 :12+4x3=24

24 44 %5 =44 v [46]

“fil!?u?.‘l
72+4x9=108

80, (1) The pattern s :
142-23= 119 ;: 116- 19 = 100
100-17 =83

83- 13 = 70 « [65]

70-11 =58

18x3 =54

RO -7 =52

19

OL (3 L 3% + T s du 14 = 0
:mxlﬂx,+:a'}ﬂ2[-mx+7r =
=x+3 2x+7) =0

T AW

7

x-f‘Z inr-'l-i

P

I 42+ 223 + 940 -
= 2u+ 32 <0 !
=2y +350 '
. _3
Y= E
Clearly, x < y
.[IJI (x- 2][x+2]
X= Enr—ﬂ
" u”-riy%*ﬁﬁ@ aliy
=¢U+3|2Iﬂ'
=y+d=0
Yol =-3
Clearly, x>y
B3 (2 a2 -4x-3x+12-0
= x(x-4)-3x-4)=
= k-3 (x-4)=0
SLoxe3aord
CIL P edy-3y-12=0
=yly+4)-3y+4 =0
=y-Iy+4)=0
S y=3or—4
Clearly, xz y
4. (4] 1. &2 = 729

729 =1 27

I y= J729 = +27
Clearly, x5 y

80, (5) I o4 =227 + 388 = ¢u5 .
=h.¥"-'.5
I 2 = 346 - 321 = 25 = -
= Y=5
Clearly, x= y

98, i4) Average Ufperbcntage ¥ NI

In aclence
91+E?+Bl+?ﬂ+4th g4

B e

420
= —— =T0%
B

. Required average marks i -

ence
125x 70

- —=

100

=875

97. (3) Marks obtained by st .0

in:

Hindl = 178%78 _ oo




EW:;«M:&E‘A@
f‘lmuz w1
R L
Scienpe: =» %‘3-&5250
Req@gdmagqgl;;};ku
1295+ 544 +525 - F
= A 3 - 9?8.!

98. (2) Required marks

_ITEK!BJ_-IEDKSS
T 100

= 84 + 66 + 94 = 244
20. (1) Rejjitired ratio

R L FYTRERN Lkt

125k 48 ) 75 x 83 :

- = '-'.”“m .-35-33
lDﬂ.IEisé'luMhumum marks = lﬂl =

+94

xx125=]m )
mzxmn
25 08
Clearly, students D,E and F can-
not opt for aclence.,
18x 800 28x450
27 = t——
101.(2) ? 100 100

- (609 = 600 ; 27.5 = 25|
=108+ 126 =234
. Required angwer = 233

3042

= —'—""2
102,13 ? 8ax3 1

10047« 223415
m 7 2
104.(4) 7» 12,6 x 22 ¢ 18 = 49806
~» Required answer = 4959
108.(3) 7= 7 +27 4+ 37- 13-9= 58
.. Required answer =60 1+
Calculations (108-110) :
Number of male players

11
= l—gxﬁﬂﬂ 440 .

= B4

Number of ferale players = 600 -
440 = 180
For female players
30 x 160
kel T
Alhletics = 100
160 %10
100
Remaining players
=160 - 48 - 16 = 06

=18

Table teninis =

thkhu:%lﬁﬂ=34

Lawn tesinis = %ﬁ'ﬂ‘m
For male players :
Mhl:uenn%?‘“ﬂ'lﬁ

= m - 135- 275

4!2’?5-;']
100

Lawn tennh =
Kho-kho =+ %l" 264=99

Table tennis = Exmﬂﬂﬁ

108.(2) Numhn'mmlur
udmm;nm:ﬂkh-ldm
=48 + 24 = T2

107.(3) Required ratio = 11 ; 18

mu.umuqundﬂ*umm-aa 72 |
'm[ﬂwwdlﬂlﬂn |

= (16 + 185) + (48 4. 165)
=181 + 213 = 394
110.{4) Required ratio =72 : 16
=9:2 . f
111.i4) ﬁvmueproductmdmaf
state R
[3.9+4.?+5.B+&ﬁ+'?3+5.3] _
= -]

= i’:—ﬁ-&l tonees

111.[2] Percentage Increase
B;?lxlmq 18
113.(3) Required difference
=[{7.4+62+83)- tﬁ.ﬁ+44+
5.6 toanes .
=(21.9= Jﬁﬂltonma
=6.] tonnes
llﬁllRequhdmwpuducum

[43+4,9+ 3.t+3.'?+3.9+4.7]
= 6

=4.] tonnes’

115.{4) Required ratle
-[ﬁﬂ+51+ﬁﬁ} [ﬁ?+ﬁ+?3]
=175:20=7:8

116.{2) Required difference
= {15 - 10)9%,0f Ry« 60 lacs

(Fﬁ“m] faca = Rs- 3lacs |

20

|-137.48) quuircdrauﬁ-ﬂ:ﬁ-dr:ﬂ
‘| 118.(2) Required sum of expenditure

=(8 + 24 +6!% Rs. 80 lacs
[mﬁﬂ
=Re.{ T100

118.(3) (1) Ratio = 1 : 3 = Not true
(2) Expenditure on medical facili-
780 -
100
= Rs. 4.2 lacs = Not true
(3) Difference between the expen-

diture on research waork and medi-
* cal facilities

o 8-7 T
“= Ra. 80000 = Definitely true
120.(2) Expenditure on purchase o
overhead projectars

24 x 680

100 | lacs
= R8.14:40 lacs
After 7% decrease,
New expenditure

['BSXH
= R‘. ] lm IBEE

= Rs.1339200 :
121.(2) Average number of studerits in
‘college A

[nm 40+ 45+ 50+m+75]

Jlﬂu = Rg. 22.8 lacs

o

B
= 50000
132.(1) Percentage increase '
70- 65
- [_é?_ﬂm) 7.69a 8
123.(4) Required ratio
= (40 + B0 + 70) : (30 + 60 + 85)
= ]60:175=32:35
124.(3) Total number of students in

college B over years
= {30 + G0 + 85 + 70 + B0 + 85
thousands

= 390 thousands
Number of students In colllege B
in 2008 =85 thousands

- Required percentage

= — X100 = 21.

205, 79

lﬁ.[ﬂ“‘thﬂbﬂmm[rummgdiagmm.
The rise in the year 2004 was 100
per cent for both the colleges A
de’ i



128.(3) Banking Regulation Laws

137.13} intéllectual property rights

128.(4) Bad and uncollectable loans

139.12) Only B

130.(1) Dr. K. C. Chakrovorty

+ 13L.14) Reserve Bank of India

132.150AllA. Band C

133.(1)2014 134 (5) USA

138.(1)Delhi  138. [2) Individuals

137.(3] Only Aand B :

138.2)Only A 139, (4) Only BandC

140. (3} 40%

141.12) Prime Lending Rate

142.01)Dubal 143, (3) Rupee

144.(1) UTI Mutual Fund

146.[3) Hazirn

148.(1} Eradication of Poverty and ex-
treme hunger

147.(1] Indian Railways

148.{2) To ensure that money depos-
ited in the bank has not come from
unknown and unauthorized
SOUrCes _

149.(1) 1% 180. (1) 5%

151.(2) financial mode of trading

182.13) Anamalal hills range

183.(5} Loans

184.(5) Overseas Indlan Citizenship
Scheme

184.15) UN Security Council

158.13) United Nations Environment

187.(4) Indla 1138, (3) UNCTAD

188.{4) Germany :

160.(5) Free Trade Agreement

18114} Indla  182. (1) Mongolia

183.(2) Australia 184.(5) Sri Lanks

168.(4) Pankaj Advani

166.(1} Juan Martin del Potro

187.(5) Rio de Janeiro

188.15) None of these

189.(1) ¥. 5. Nalpaul

170.12] Marital Status

17L(1)China  173. (2) Children

173.(3) Hockey 174. (5) Danlelle Steel

175.(3) Only C .

178.(2} Here Objective Case and a
Gerund should be used. Hence,
replace ‘they are taking' by ‘them
for taking'. _

177.14) Here Adjective clause should
be used. Hence “which will be
used’ will be a proper substifution.

178.13) Here, ‘responded favourably to
should be used. In present per-
fect Tense the structure of the
stentence s

Subject + have /has +V, (Past Par-
ciple)

178.(1) Here, ‘but to change' will be a
proper substitution.

180.{5) The sentence is correct,

181:(1) Tumbling stock markets, plung-

ing exports and deterforating eco-
- nomic growth were the causes of
financial crists.

182.(3] Asia could soon find itsell
saddled with overheated markets
similar to the US housing market
due to higher asset prices.

183.(2| Disputing financial theories
about how recesslons can be pre-
dicted and avolded,

184.(4} All economies are susceptible
Lo recession because of the slate
of the US economy.

180.(4) These were appropriate and ac-
complished the goal of economic
- revival,

1886.(3) Abrupt drop in exports by Aslan
countries.

187.(1) Healthy growth of économy In-
dicated by GDP figures.

188.(4) Experts are apprehensive about
the state of Aslan economles de-
spite their recovery,

189.(5) As withdrawal of flscal stimu-
lus, will knock markets for a loop.

190.{5) Money In China has been es-
peclally casy to find.

191.(4) The meaning of the word
evaporats [Verb) Is - to disappeay,
especlally by gradually becoming
less and less.

Hence, the words svaporated and
vanished are synonymous

1932.(2) The meaning of the word fuel
(Verd) Is : to increase something:
to make something stronger.

The word stimulate bears the
samemeaning

193.(1) The meaning of the word flood
(Verb) is : to become or make

something
place in large numbers.
Hence, the words flooded and
suxrged are synonymous

184.(5) The meaning of the word sharp
{Adjective) Ia : sudden and rapid,
especlally of a change in some-

become avallable In a,

The word gradual [Ad)ective)
means : happening slowly over a
long period: not sudden.

Hence, the words sharp and

gradual are antonymous.

21

196.(3) The meaning of the word buoy
(Verb) is: to make samebody 1!
cheerful or confident.

The word ngmb. (Verb) e
to make somehody unable to e

think or react in a normal w.
Hence, the words buoyed ..o
anmbed are antonymous.

.198.(3) Replace 'cledr indications (...

olr by ‘clear indicatlon thal con
as article ‘a’ shows singular sense

197.(4] Replace 'shares by the com
pany’ by ‘shares of the compan

188,|2) Before countable Noups/ Vi
nouns, ‘how many’ should |
used. Hence, replace ‘ask b
much of the youth’ By “ask b
many of the youths”.

108.(4) Two events are likely in fuullr
Hence, ‘will be a high growth rat
this year” should be used

200.(2) Here ‘government sponsor! |
guarantee programme’ shouli b
used.

301, (1) Replace ‘we had extensivel.
discussions’ by “we had extensic
(Adjectiev) discussions’, as as A
Jective qualifies a Noun [discus
sions.

202. (3] Replace "those compantes Lo
sell' by ‘those companies wh i
sl

203, {1) Here, Pasalve Volce shoulid i
used, Hence, Though he has ien
promoted to' will be a correci -
age.

204. (2) Replace "of funds now wil! Lo
& problem why’ by "of funds now
will be a problem as/becanse

208. (1) Here, an infinitive should L
used. Hence, 'we were forced 1o
react’ will be a proper replacenien

208. [5) All correct

207. (4) The appropriate word should
be : together.

208. (2) The appropriate wl:-rd shoul!
be : comply.

200. (4) The appropriate word shoulil
be : undertaken.

210. (5] All correct

31L. (31D 213. (3 F

213.11)A 214. (31T

218.(2)B 218. (5] led

217. |3) swept  218. (2) instrumenial

219. [4) [amily 220 (1) concemn

231. (4) (aith  223. (1) among

233. (2) gentle 224. (3) He

238. (5) did



